8. The equation of the plane containing the points (1,0, 3), (1,1,0) and (1, 1,1) is:
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3. Identify the surface z* — y* — z = (.
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PROBLEM 3: Find the length of the curve given by
r(t) = (2t, 4V%, Int)

forl1 <t<e.
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8. Let f(z,y) = In(2x — y). Using a linear approximation, the approximadte
value of £(1.1,0.9) is:
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9. The critical points of f(z,y) = 32% + 3y® + z3y® are:
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1. Evaluate the limit if it exists
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10. The directional derivative of f(z,y) = x*¢™* in the direction of greatest
increase of f at the point z =1, y =90 is:
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